LEWIS'S PROBLEM

Click in the box to study the expressions:

1 Write the expressions to match the pictures (use the third person singular):

2 Choose the correct answer and write it in the box next to the question:

Because he sits to close to the TV. Lewis should have an eye test.
He can't see properly from back there. He's got a headache.

Lewis wants painkillers. His mother is going to phone the optician's.

1 What does Lewis want?

2 Why does he want them?

3 Why does his mother think he's got a headache?
4 Why doesn't he want to sit in an armchair?

5 What is his mother going to do?

6 Why?
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